= o
A & 0l & AF 2 E A A
20198 & =0l & LBHSI A AbSI = X 1t
SN ALSI S X
HE: HASS MBOUF N
Chel: Q) =MESR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A3l = X 2t 57,245,523 50,037,456 7,208,067
= 29,500,920
J| 997,582
< 8,131,326
Al 18,615,695
MASE 42y X 39,000 39,300 A 300
R R o, 39,000 39,300 A 300
ABIETEH 2 9,000 9,300 A 300
202 044l 4,000 4,000 0
01 SLHOIYI 4,000 4,000 0
OAtsl =X 2= 4,000
203 ¥ S =&l 5,000 5,000 0
03 AIF=XH R =AH| 5,000 5,000 0
OMEI=X AI#H2GZ=Z 5,000
JlZz=a A 2H8el XJ A 30,000 30,000 0
301 et d = 30,000 30,000 0
01 MEIBEZE 06z 30,000 30,000 0
OJdiz===2 X 2gel X 30,000
MEI=X Jlg =24 748,903 689, 168 59,735
< 128,273
Al 620,630
N A =X 21gh 2= 748,903 689, 168 59,735
< 128,273
Al 620,630
AMEBIEXAE SAR 1= 1,296 1,296 0
301 et a = 1,296 1,296 0
09 HALAHIE& S 1,296 1,296 0
OAZIEXIAIE BAX =0
81,000& = 298 = 2 « 43| 1,296
AMBIEXANESAA 2X =& 637,570 555,386 82,184
< 128,273
Al 509,297
307 glz2tol & 637,570 555,386 82,184
< 128,273
Al 509,297
10 AL SXAIEEE 2 H EX 637,570 555,386 82,184
OAZIESXIAIE S AR S X =S 635,040
o= XAIE 481,680
< 96,336
Al 385,344
o HOMASX AL 89,280
< 17,856




AN ALEI =X
M M=K 0IEE 24

e XY AL EX DIt 2= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Al 71,424
o0tS - AHE A 64,080
= 12,816
Al 51,264
OMISXAIESAIA MolEE 2,530
& 1,265
Al 1,265
ASISXAIE 29 2435 110,037 132,486 N 22,449
307 2I2t0| & 110,037 132,486 N 22,449
03 DIZE P AESIHIEX 18,060 40,812 N22,752
OZOHQISHHM 2HdI(20HEH) 15,560
OHdEHEAS 289 BX 2,500
04 SIZ2ISHAAISHE E X 30,000 37,000 AT7,000
OBt HE eI =M 30,000
11T AISIEXAIEEX 61,977 54,674 7,303
OXHOHUSH SXSEAF (7IHEH 11HAFS) 24,079
OAESMEoE SXNZSE A (2IHAIY) 15,960
OFALAEHE S XESAS(3MSH 3HAIY) 13,000
OXNY0otSHE EESA(2IHAIY) 8,938
Lo 2X s& 30,527,568 27,604,973 2,922,595
= 20,216,801
J| 198,638
& 2,003,316
Al 8,108,813
CoEXAMEA K& 29,800,354 25,437,923 4,362,431
= 20,216,801
J| 198,638
== 1,953,316
Al 7,431,599
Loladxiel & Al S SKIANY 4,607,020 3,268,436 1,338,584
= 2,303,510
= 438,004
Al 1,865,506
307 2Iz2t0| & 4,607,020 3,268,436 1,338,584
= 2,303,510
o= 438,004
Al 1,865,506
11 A EXAIEEX 4,607,020 3,268,436 1,338,584
Okl Xel At 4,380,040
= 2,190,020
= 438,004
Al 1,752,016
Ox8)|a dgols 226,980
= 113,490
Al 113,490




2N
X ZH -
L= B

el

=X sd

=X MHIA XH

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
(S E)100MAICHOIZ A Z X2 (2 1D) 331,098 876,004 544,906
Il 165,549
Al 165,549
307 @lz2tol & 331,098 876,004 A 544,906
Jl 165,549
Al 165,549
AR S XA E X 331,098 876,004 A 544,906
O100MIAITH (2 a Xl At 308,400
Jl 154,200
Al 154,200
O100MIAITH (2 Xl AHY H G QI 2H| 22,698
Il 11,349
Al 11,349
Lo=sI 2 4,572 4,572 0
202 Ol 4,572 4,572 0
01 =LHOIHI 4,572 4,572 0
OLe=X g2
81,0008 = 28 = 2& « 53] 1,620
ompae YPx
81,0008 » 2% * 2& * 43| 1,296
OZI@ael 2UH0oidl 138,0008 * 18 » 128 1,656
cole g A 80,350 79,500 850
201 2erE Sl 77,350 77,350 0
01 At 2t 2l I 9,000 9,000 0
OB F2AHA NS LR (BHSH =)
450,000& » 20CH 9,000
03 #Ar2EHI 68,350 68,350 0
O3dgA(NHo s EH2 EF) 16,000
O+ & 1,500
ot zelE&d 2,500
O34l 8,000& = 5,500¥ 44,000
OoMS M= 2,000
OszsA Mg 500
oRE &5=2 200
o=+% #¢ 150
Ok & MEEX FMHE 1,500
307 glztol & 3,000 2,150 850
06 283 3,000 2,150 850
OFMEEIEY 3,000
co=EXdls 2EAds 29 420 420 0
201 LBt Y| 420 420 0
01 AtR 2t 2l Hl 420 420 0




2N
X ZH -
L= B

el

Akl = X1 ot
Lo =X &8
CA=SIMEIA X3

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OLo=AI= 2878 844g
70,0008 ~ 3H 23| 420
LololMtha & A& 16,200 12,960 3,240
301 LBt A= 16,200 12,960 3,240
09 HAIAHI EAZ 16,200 12,960 3,240
OLol Jlotial &JX OBl
81,000& * HH 2 810
OZdza AdFAUS EFIHA o]
81,000& * 50 12 4,050
Odduey sotE=H &R o4 Hl
81,000& * 70 2 11,340
LOoOXNEXR 4 1,215 3,215 A 2,000
301 et A= 1,215 1,215 0
09 #HAIAHI BAZ 1,215 1,215 0
OLQoXNEX we ZIF oyl
81,000 = 15H 1 1,215
Lo=EXAdE |2 3,000 3,000 0
301 et A= 3,000 3,000 0
01 Al B & X 262 3,000 3,000 0
OLQEX(MEIANE A2
500,000& * 3 23| 3,000
RES Lol 2S5 1,620 1,620 0
301 et A= 1,620 1,620 0
01 Al B & A 462 1,620 1,620 0
OREsS HHzd 25 1,620
o 2 EH| 50,000 * 10¥ 2 1,000
o gAlH| 7,000& * 341 x 10Y 2 420
o Il S H| 50,000& 4% 200
PIE G 18,801,202 16,440,105 2,361,097
= 16,921,082
== 376,024
Al 1,504,096
301 LBt A= 18,801,202 16,440,105 2,361,097
= 16,921,082
= 376,024
Al 1,504,096
01 AISIE & A 462 18,801,202 16,440, 105 2,361,097
OJl=d32 X3 18,801,202
= 16,921,082
= 376,024
Al 1,504,096
Ao Xz 5,760 8,640 A 2,880
= 1,152




2N
X ZH -
L= B

el

Akl = X1 ot
Lo =X &8
CA=SIMEIA X3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 4,608
301 et d =S 5,760 8,640 A 2,880
< 1,152
Al 4,608
01 MEIBEZE 05z 5,760 8,640 A2,880
OZx+==4 X3 5,760
< 1,152
Al 4,608
CE: AMIEH Z208 X 42,000 42,000 0
< 9,900
Al 32,100
307 21201 A 42,000 42,000 0
< 9,900
Al 32,100
10 ALSISXAIEEE2IHEX 42,000 42,000 0
Odduzse 2 15,000
< 4,500
Al 10,500
OLDA o A2 2YX
6,000,000 * 304 18,000
= 5,400
Al 12,600
Okolna & F2Use 2L XA (XA 9,000
AZIEXAIE A=2R22F XA 235,155 125,948 109,207
= 188,227
Al 46,928
301 et a = 235,155 125,948 109,207
= 188,227
Al 46,928
0B M ERRIABHS 235,155 125,948 109,207
OMEI=2R3 243 46,928
OMIERRA =S¢ 188,227
= 188,227
el R e N 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
01 22 F2Hl 3,000 3,000 0
OokorAazat 50,000& » 60 3,000
I2AY RasA 110,356 107,500 2,856
307 21201 A 110,356 107,500 2,856
11T MISAASEX 110,356 107,500 2,856
OZzAg 2254 110,356
MAS THOH=Ql AAFHHE AL 148,700 134,800 13,900
307 21201 A 148,700 134,800 13,900




A AMIEX
HH: Lo =X B
S9l: COIZRMNHIA X CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
11T A EXAIEEX 148,700 134,800 13,900
OMAS MOt Ql AIAFHHE (100 ) HY 99,200
ONMAS MO QI AIAFHHE (100 ) & 49,500
A2 29 43 & 85,230 54,143 31,087
& 15,222
Al 70,008
201 gBt24y| 6,800 2,600 4,200
01 AP 2t 2| H| 6,800 2,600 4,200
OZFMAH(ESATIR2Y S 2X)HER 500
OF2gess NBYAH a4
70,000 x 23] x 15Y 2,100
Odz4Y 29 #2435 4,200
ocZdZY BAFJH|I(EH=2D] )7L
10,000& * 3F * 604 1,800
oH2Y MAA EE S 7Y
800,000 » 30 A 2,400
307 QI2t0| ™ 78,430 51,543 26,887
= 15,222
Al 63,208
11 A EXAIEE X 78,430 51,543 26,887
OHZE =3 T2 2el 48,150
& 9,630
Al 38,520
Od[e =z T2 )2 XA 27,960
o 5,592
Al 22,368
OZ2Y =3 Z2 22| AHRK (XA 2,320
dze 249 N 270,870 291,274 N 20,404
& 54,174
Al 216,696
307 2Iz2t0| & 270,870 291,274 N 20,404
= 54,174
Al 216,696
11T AISIEXAIEEX 270,870 291,274 N 20,404
OZ=2gy 29| 270,870
& 54,174
Al 216,696
MO E XA 29AH 1,094,917 716,097 378,820
301 et A= 997,887 627,097 370,790
01 Al E& A 462 997,887 627,097 370,790
OLQZE)IQYBE XNXNAEL2(MIH) 997,887
307 212t0| & 97,030 89,000 8,030
10 Al EXANEEHE2IGH EX 94,600 89,000 5,600
OMITEQAIYE 22X (1IHA) 94,600




2 A
H:

el

5
ol =21 &
ISXIMHIA X (chel & 9l)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

11 At S X ALY
OMIt= QA

2x 2,430 0 2,430
2 ASXE(1HA) 2,430

CoMEAIE 2E NE 1,847,820 1,646,110 201,710

923,910
Al 923,910

H

301 2ELE A= 1,847,820 1,646,110 201,710

923,910
923,910

= M

ol 23 1,847,820 1,646,110 201,710
L2 IANMEE= 1,847,820
923,910
923,910

= M

Lo sslisMdl AN K& 427,752 279,950 147,802
299,531
25,644
102,577

= N W

307 glz2tol & 427,752 279,950 147,802
299,531

25,644
102,577

= N W

10 A SAAEHIS2SHIEX 427,752 279,950 147,802
Ookelss JI2Mdbl A 427,752

299,531
25,644
102,577

= W

H
re
]
0
Opt
el
x
=
I>
o
S
HT
F

633, 159 433,583 199,576
443,229

37,989
151,941

= MW

307 21201 A 633, 159 0 633, 159
443,229
37,989
151,941

= MW

o
o
o
Ny
40
Jm

633, 159 0 633, 159
FAHIA HOEE X 633, 159

443,229
37,989
161,941

O
H
re
i
or ou
OR
on

Z W

SOIJMALMHI A B 2 5,217 4,770 447
3,638

313
1,266

= HnH

307 glztol & 5,217 4,770 447
3,638

313
1,266

= HmnH




SN ALSI S X
HH: Lo =X B
@ SSEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 5,217 0 5,217
OLolss Il JMALMEIA SHIOIEX 5,217
= 3,638
< 313
Al 1,266
LoEEENS 29 358,957 344,921 14,036
307 21201 A 348,441 344,921 3,520
10 ALSISEXAIEEE2EHEX 307,961 344,921 A 36,960
O =Xa 2EX& 307,961
11T M SXAISE EX 40,480 0 40,480
OLQo=X2 MR 40,480
402 RIZEX20l A 10,516 0 10,516
01 U2 EAILE X (KA 10,516 0 10,516
oke=sia Jlsed 10,516
Lolgditel & XA 26,098 25,000 1,098
307 21201 A 26,098 25,000 1,098
11T MISXASEEX 26,098 25,000 1,098
OLoldXelArd 8% A (1Y) 26,098
ANLIOIZ2E &X 2<F 233,147 213,868 19,279
307 21201 A 233,147 213,868 19,279
10 AL SXNAIEEE2EHEX 233,147 213,868 19,279
OoALIZEY 29 233,147
SEHALUESEHNY S=od LML 2HXA( 49,126 24,200 24,926
o121H)
J| 24,563
< 4,913
Al 19,650
307 21201 A 49,126 24,200 24,926
J| 24,563
= 4,913
Al 19,650
10 ALl SXAIEEE2EH EX 49,126 24,200 24,926
Ok S22ed S20| oAl 49,126
J| 24,563
< 4,913
Al 19,650
SEHLUESHY SSHELB ML 2 (E 10,332 13,388 A 3,056
B4t 2 |SXUEs HS)
J| 5,166
= 1,033
Al 4,133
307 21201 A 10,332 13,388 A 3,056
J| 5,166




SN ALSI S X
HH: Lo =X B
@ SSEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,033
Al 4,133
10 ALSISXAIEEE2EHEX 10,332 ,388 A 3,056
O#blSdH & |RAE=HES 10,332
J| 5,166
< 1,033
Al 4,133
SNk STHMLY SsAHLHAMAEA 2 6,720 , 360 3,360
J2Egl)
J| 3,360
< 672
Al 2,688
307 glz2tol & 6,720 ,360 3,360
J| 3,360
= 672
Al 2,688
10 ALSISXAIEEE 22X 6,720 ,360 3,360
SS L AMEIA J22H | 6,720
J| 3,360
< 672
Al 2,688
Lol X 29 87,064 , 125 24,939
307 21201 A 87,064 , 125 24,939
03 BIAHMEHE2HHIES 87,064 0 87,064
OLQl3XIa el BEX(2Y) 63,784
OkelslXla 248 2= 23,280
[ZXRD4HA 2 A HSUE 1,500 ,500 0
301 et A= 1,500 ,500 0
09 &AL HIZ &S 1,500 ,500 0
OHZ XS A2 A0S
30,000& = 509H 1,500
Z22Y ¢ el 2 23| 230,337 0 230,337
= 57,584
< 51,826
Al 120,927
307 glz2+ol & 230,337 0 230,337
= 57,584
< 51,826
Al 120,927
11T MISRASEEX 230,337 0 230,337
OZd2Y dutgy & 2=3d XA 230,337
= 57,584
< 51,826
Al 120,927
Lo SsSIIE2MHA BEAL 22X KA 37,800 32,400 5,400




SN ALSI S X
HH: Lol =X B
@ SSEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 11,340
Al 26,460
307 glz2tol & 37,800 32,400 5,400
< 11,340
Al 26,460
11T M SXASEEX 37,800 32,400 5,400
OSsSMNHlA BALR 288X =2 37,800
< 11,340
Al 26,460
coeldN A0 29 240 0 240
201 Let2d] 240 0 240
01 At 22l 240 0 240
OQIAXIZ0IE 2tetd &40t 240
100MIAICH, HE AL X2l At (S 8I) 2,400 0 2,400
< 1,200
Al 1,200
307 21201 A 2,400 0 2,400
< 1,200
Al 1,200
03 QIZtHNHE2HEHEX 2,400 0 2,400
OAMZHAXNALAHEBSXN S A 2,400
< 1,200
Al 1,200
LOI=EXAE JIE &5 327,000 1,166,000 A 839,000
F2Y A4 =25 ¢ JIsdE 275,000 1,166,000 A 891,000
206 M= Hl 10,000 10,000 0
01 M= 4l 10,000 10,000 0
OkL=: 3AZ2Y AN Ed - B 220N 7 10,000
401 Al HIZ 2018 250,000 1,146,000 A 896,000
01 A& HI 250,000 1,130,000 880,000
OL® SHIZY S#FML(IIsEY) 250,000
405 XtatE SHI 15,000 10,000 5,000
01 XA =S FH SHI 15,000 10,000 5,000
OZd2Y HE #¢ 15,000
LASXNAE Jlisdst 52,000 0 52,000
401 Al HIZ 201 I 10,000 0 10,000
01 A& HI 10,000 0 10,000
OLQRAAl4 S ALY 10,000
405 TtabH S| 42,000 0 42,000
01 et EFFHSHI 42,000 0 42,000
OLURAAE Jlsds 42,000




M AR =X
Ha: Lo =X 57
ol AW R T4 CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
A8 HEE3 £ 4 400,214 1,001,050 A 600,836
= 50,000
Al 350,214
SERA el 2 400,214 545,050 A 144,836
< 50,000
Al 350,214
101 1A dl 53,504 47,302 6,202
04 JIZHHZ2Z2XNHEE S 53,504 47,302 6,202
OSdRaze 22k B 20,721
SPIE=| 66,8003 * 1H = 230 15,364
ocxgag 66,8003 * 1H » 48 3,207
o 2HAlYH| 5,000& = 1€ * 230 1,150
o H A F I 500,000& = 1H « 23| 1,000
OZ2E¥ Nx=xY s B9 22HES 32,783
SPIE-t=| 66,8003 * 6H » 64 25,652
oxFFH 66,8003 * 69 » 13 5,211
o ZHAIH| 5,000& * 6H » 64 1,920
201 Lt 2| 153,460 148,561 4,899
01 At 22l 27,598 25,779 1,819
O3B 22 MRES 2 HZF7E
150,000& » 12& 1,800
OHM&EEH Xt 600,000& = 43| 2,400
OZ3Zd & && =) dU=
49,900& * 204 = 128 1,198
OZJZ A HIetE e =2
700,000& = 12& 8,400
OHHIAIRE 2LxHel2el =5
650,000& = 12& 7,800
OStEZ UIItHEAL2e =2
500,000& = 12& 6,000
02 =224l 125,862 122,782 3,080
Oz3&82= & HA 34,320
o Xt XAl 50,000& = 13l 50
cEIAMNERES 35,000& = 23| 70
ocBRIA &ot+E2=3  150,000& * 12 1,800
cZARH - SEFE MIIZ
2,500,000& = 12& 30,000
ocBABA EFNE 30,0002 *» 80& 2,400
OZ22I& AEIHE HZYI U=
11,0008 * 128 132
OZAZE MEIIE FEF2x22
180,000& * 12& 2,160
oozl 71,150




SN ALSI S X
Hu: Lol =X EA
ol AW R T4 CER-D
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
czagd 2 a8y ugy
550,000& = 53 2,750
oot KFFU 5,700,000& = 12& 68,400
O Xt 350,000& = 104 ~ 123 4,200
OA&EHl Sl 9,700
oSt Al RXl2cl 4,500
ocZRIA ANE w22 4,000
oZ3RA BorE CCTVRAI2el
100,000& * 12& 1,200
OBARR RAAHAAY S22
350,000& = 12& 4,200
206 M= Hl 22,050 20,600 1,450
01 =4l 22,050 20,600 1,450
O&aiYX 2 & Fatzs + 9,750
o2 35,000& = 150m’ 5,250
ocgstzs 30,0002 = 1501 4,500
OS2I ¥ OAE #¢ 570,000& =« 10CH 5,700
OZ32E¥ ¢ 3&d 22l M=+ 4,000
OzsdRd &cl8 RRE0FY
13,000& * 200m 2,600
401 A& HIZ 201 8] 170,000 326,987 A 156,987
< 50,000
Al 120,000
01 A& HI 170,000 326,987 A 156,987
ORAAE & L Y ES 70,000
OZ33Z& M2 B 30,000
ONxsStR Y FH|(2001) 20,000
OZ3B&d 29 249 2 &l 50,000
< 50,000
405 XHoHF S HI 1,200 1,600 A 400
01 et EZFH S 1,200 1,600 A 400
Ooul=2 +¢ 600,000& = 20H 1,200
e =X 58 6,608,088 6,369,926 238,162
= 2,175,380
< 728,511
Al 3,704,197
SOHOIZ X AHIA BHA 3,970,451 3,426,852 543,599
= 2,175,380
< 703,593
Al 1,091,478
ZOHe =X Xel XA 239,938 153,120 86,818
= 119,969
< 23,994
Al 95,975




AN ALEI =X

mE: Fojel =X S

CHRl: OIS X AMHIA A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
101 @124 H] 239,938 153, 120 86,818
= 119,969
& 23,994
Al 95,975
04 JI2ZtHIZ2 2 NEE S 239,938 153, 120 86,818
OHOMU=SR LA 239,938
o 01 21 H| 230,059
= 115,030
= 23,006
Al 92,023
ocHAEMEH| 2,460
= 1,230
= 246
Al 984
o 23 H| 7,419
= 3,709
o=t 742
Al 2,968
SOOI SR EX & EXT OXE 1,200 900 300
201 et 9| 1,200 900 300
01 AP 2t 2| bl 1,200 900 300
OHOMe NsSXHEX M2 1,000 = 6000H 600
OFMNANSFIFSE HEXET &
200,000& = 34 600
02X g2 6,212 5,012 1,200
201 B9 2,000 800 1,200
01 AP 22| H| 2,000 800 1,200
OXMeI=X 22 & s4x0E X
200,000& = 10H 2,000
202 o4 | 4,212 4,212 0
01 2L I 4,212 4,212 0
OHNAZLR (ME) ALEA
81,000& * 29 * 22 x 133 4,212
NHEHIoH=Z A =2 AFY 12,336 12,336 0
201 et d| 9,675 9,675 0
01 AF 22| H| 6,875 6,875 0
OXHMH=Z X /I M2 12,5008 * 550H 6,875
02 Z2=2=2494| 2,800 2,800 0
OXHAAE2 AIEEH sA22l 1,000
Ofyd 2 ROIAHIAAE S22
150,000& * 128 1,800
307 212t0| ™ 2,661 2,661 0
11 A EXAIEE X 2,661 2,661 0




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXHM=2X G H #}HAEX 2,661
ol ol AL 9,660 10,000 A 340
307 giztol & 9,660 10,000 A 340
11T AISIEXAIEEX 9,660 10,000 A 340
OHMI393] ZHOHQlol Y AL 9,660
ORI AKX 12,230 11,960 270
301 et A= 4,000 4,000 0
09 #HAIAHI BAZ 4,000 4,000 0
OO X HAF EIF S 4,000
307 2Iz2to| A 8,230 7,960 270
11T A EXAIEEX 8,230 7,960 270
OHM243] ZO0HQ StHZEZ =D} 3,810
OLUSAT AZZOHQ stOlS 2,540
OFEHHAIZOHQIEHH EHE S StH =83 1,880
oA E RSAH 13,344 13,344 0
= 2,669
Al 10,675
201 LBt | 13,344 13,344 0]
= 2,669
Al 10,675
01 AP 22| d| 13,344 13,344 0
OXfsE RS (278H) 13,344
o 2,669
Al 10,675
2xY N3 (0I=x) 151,920 166,482 AN 14,562
= 106,344
= 13,673
Al 31,903
301 et A= 151,920 166,482 A 14,562
= 106,344
& 13,673
Al 31,903
01 M3 EXE 2562 151,920 166,482 N 14,562
OXMLEHIIx) N 151,920
= 106,344
& 13,673
Al 31,903
MNASZEC &yl & 2AH A& 2,330 2,330 0
= 1,165
& 233
Al 932
307 2Iz2to| & 2,330 2,330 0
= 1,165




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

ZOHA=SX MHIA &4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

233
932

<
1o
]
He
n
a1
2 =

021

O
2
k>

Hor XEhyl & 2 AHl XT3

il

= N W

2,330
2,330
1,165

233
932

,330

HL
FA

ZoH 7 X

= N W

3,783
3,027
151
605

, 181

A 398

307 glztol &

=z N W

3,783
3,027
151
605

, 181

A 398

012z +=Hl
(¢)

= MW

3,783
3,783

3,027
151
605

A 398

gojel 2=Hl XA

= N W

64,808
51,846

2,592
10,370

32,

500

32,308

308 MHXIHHMS0IH

= W

64,808
51,846

2,592
10,370

32,

500

32,308

S
sl
2
o’
o
Y
0x
I
0

O w
0
2
o on
10
1]
=
>
40

Z N W

64,808

64,808
51,846

2,592
10,370

32,

500

32,308

28,313

5,663
22,650

20,

100

8,213

307 glztol &

=

28,313

5,663
22,650

20,

100

8,213

01 A= 2Hl
0

1A SXAIE 2 =

=

H

Al

6,740

5,740

1,148
4,592
1,000
200
800

21,573

7,

740

,360

A 1,000

9,213




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

ZOHA=SX MHIA &4

Off &t 24

=

i
2m

= M

21,573

4,315
17,258

= W

247,890
123,945
24,789
99, 156

201,

46,776

= MW

247,890
123,945
24,789
99,156

201,

46,776

= N H

247,890

247,890
123,945
24,789
99, 156

201,

46,776

= N H

64,446
45,112

3.867
15,467

56,

160

8,286

307 21201 &

= N H

64,446

45,112
3,867
15,467

56,

160

8,286

o
o

Et
=

OZLTHEAMHIA HIRX ALY

05 gl

oy

o
T

[

= HnH

64,446
64,446

45,112
3,867
15,467

56,

160

8,286

SHMH SXNSE X AL

= M

561,970

414,000
147,970

523,

000

38,970

H

324,000
324,000

348,

000

A 24,000

OMItAH O E &8 X 235t &H K& (250 )

M

324,000
324,000
324,000

348,

000

A24,000

307 glztol &

Al

235,970

90,000
145,970

175,

000

60,970

1A SXAIE 2 =

[=]
ONHTHoH K& 3 A X2 (400 EHA)

O X HIH ol Xt & &l

Jm

A3 AFY (0N

H

Al

H

Al

235,970

100,000

50,000
50,000

80,000

40,000
40,000

175,

000

60,970




AN ALEI =X

mE: Fojel =X S

ol FOHQIZX AHIA B

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMAUHAAAN EHHAIXE &4SA 11,000
OXHMMHXE 218 olsSMHEIA HMES(2MHEH) 44,970
402 QI2H X201 M 2,000 0 2,000
01 2I2F 2 A E = (REMTH ) 2,000 0 2,000
OXZH KA SXNSE HteI 2 2,000
SOl HoIAIAE FHI 1,500 124,000 A 122,500
401 Al HIZ 201 Y] 1,500 1,500 0
01 A& HI 1,500 1,500 0
OFMA=XAIE 2FFH 1,500
ZoHeA=z XA 1,393,809 1,321,247 72,562
= 975,666
< 125,443
Al 292,700
301 et a s 1,393,809 1,321,247 72,562
= 975,666
< 125,443
Al 292,700
01 MEIBEE 263 1,393,809 1,321,247 72,562
OZO0Hel 2 (493) 1,393,809
= 975,666
< 125,443
Al 292,700
0 ESXNE=SH X& 805,615 469,245 336,370
= 561,786
< 48,153
Al 195,676
201 ¢er24| 3,063 2,032 1,031
01 At 22/l 3,063 2,032 1,031
OFeasIa ?Js2d 3,063
CEHHMAl ESXNAIN2XNE MAIRI A3
100,000& = 18] = 4H 400
SEHHMAl == AR 3
102,600& = 123 » 29 2,463
SEfEAl Ol A E A2 & 3
100,000& = 18 = 2H 200
307 glz2+ol & 802,552 467,213 335,339
= 561,786
< 48,153
Al 192,613
05 Rzt E = 802,552 467,213 335,339
QX =X (504) 802,552
= 561,786
< 48,153
Al 192,613




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2 ZHOH QI QHOFAF TIHA 15,897 15,612 285
= 12,717
< 636
Al 2,544
307 gl2tol & 15,897 15,612 285
= 12,717
< 636
Al 2,544
10 AL SXAIEEE2EH EX 15,897 15,612 285
OAZ2HE O I OHOFAN THA (1) 15,897
= 12,717
< 636
Al 2,544
HEZMe s4HE XA 3,000 3,000 0
= 2,100
< 180
Al 720
301 et a = 3,000 3,000 0
= 2,100
< 180
Al 720
01 MEIBEE 2063 3,000 3,000 0
OOAZM E4tHIE XI=(3Y) 3,000
= 2,100
< 180
Al 720
SSEAHNEHEIAHE X2 2,034 1,250 784
= 1,627
< 81
Al 326
301 LA F 2,034 1,250 784
= 1,627
< 81
Al 326
01 MI28HE 6= 2,034 1,250 784
Os3=dHEXNE 2,034
= 1,627
= 81
Al 326
o< (ta? S) 196,580 214,286 A17,706
= 137,606
= 17,692
Al 41,282
301 et a = 196,580 214,286 A17,706
= 137,606
= 17,692
Al 41,282




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= HnH

196,580

196,580
137,606
17,692
41,282

214,286

= N H

2,096
1,467
126
503

70

2,026

307 glztol &

= Hn W

2,096
1,467
126
503

70

2,026

&
e
e
40
oy

e Jm

O
0z
2

o
o
HE
b
J
>
]
=

= M W

2,096
2,096

1,467
126
503

70

2,026

ZHOH I AIZ2ERIE Ktel X &

= M W

62,007
31,003

6,201
24,803

44,716

17,291

= N W

62,007
31,003

6,201
24,803

44,716

17,291

04 JIZtNZ22XNSE+
OHOHAAIZEH L Riel K&

=z o W

62,007
62,007

31,003
6,201
24,803

44,716

17,291

Zojol It K

12,280

10,000

2,280

12,280

10,000

2,280

12,280
12,280

10,000

2,280

Al

24,000

7,200
16,800

24,000

H

Al

24,000

7,200
16,800

24,000

02 QX EAMEEE(0IATHE)

OEoAIE AXIdl X (8H)

H

Al

24,000
24,000

7,200
16,800

24,000




2N
X ZH -
L= B

el

Akl = X1 ot
gopel =X sa
ZOHA=SX MHIA &4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEHESHMNWUESEEXXA 31,253 0 31,253
== 6,250
Al 25,003
307 2Iz2t0| A 31,253 0 31,253
o= 6,250
Al 25,003
10 M SXNAEEHESIGHEX 31,253 0 31,253
OSHEsHMWeEgsExXXA 31,253
& 6,250
Al 25,003
HOU=EXALE 28 & 2,637,637 2,913,074 N275,437
= 24,918
Al 2,612,719
ool 22X 2HAA 961,825 953,306 8,519
307 2iz2to| A 956,825 953,306 3,519
10 MM SAANEEHESIGHEX 931,825 953,306 N21,481
O&els&e=xa2 2N 931,825
11 A EXAIEE X 25,000 0 25,000
OHMAUASE=2X& AFIS XA 25,000
402 SI2FXHE0| & 5,000 0 5,000
01 SIZEXIEANSEX (MMM E) 5,000 0 5,000
OHMAUEE=EXNS RAEE 5,000
QI AATHEANE 2 HAEH 879,664 854,864 24,800
307 gizto| A 859,664 844,864 14,800
10 MM SAANEEHESIHEX 859,664 844,864 14,800
OQXNHQUXATHEAIE S H XS (2IHA) 859,664
oXOHQ2Z AFH E(13H) 664,281
oXHMESEHAE(4Y) 195,383
402 SI2vXHE0| ™ 20,000 10,000 10,000
01 It E AN EXR (NI ) 20,000 10,000 10,000
OXMAUAZZANYEE AlE X B 20,000
OIS ESSAMY N3 157,682 57,185 100,497
307 2Iz2t0| & 59,682 57,185 2,497
11 A EXAIEEX 59,682 57,185 2,497
OHMC EY 2S5AY 59,682
402 SI2FXHE0| & 98,000 0 98,000
01 BIZtXIEANYE X (KM ) 98,000 0 98,000
OFeIEE2EsYE 7 98,000
ORI KIGASIHEANE 2R 469, 164 449,390 19,774
307 QI2t0| ™ 469, 164 449,390 19,774




SN ALSI S X
Mo mojol =X =A
thel: ZOH=EIAE 28 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 469,164 449,390 19,774
OXGAI HEANE 2L XA 469,164
ocxSAdH 2EXA 228,195
cOlSANJAUEH2EXNE 121,657
ocFUAESHEH2IXZ 119,312
Zojel RENVMEH 29 N 41,300 30,446 10,854
< 7,935
Al 33,365
307 21201 A 41,300 30,446 10,854
< 7,935
Al 33,365
10 AL SXAIEEE2EH EX 41,300 30,446 10,854
OAZZHe NEXNJALH 22X 39,675
< 7,935
Al 31,740
OAZEMe KNSXNLAH 22 K& (XA 1,625
Zojel clASAAR2Y X2 82,211 59,911 22,300
< 16,023
Al 66,188
307 21201 A 82,211 59,911 22,300
< 16,023
Al 66,188
10 ALSISXAIEEE2IHEX 82,211 59,911 22,300
OFHe sgaga 24 X 78,315
= 15,663
Al 62,652
OFoe sgags 29 X3 (XHA) 2,096
OAZAS SR 2SS AR S HE 1,800
< 360
Al 1,440
HA2AMDAE XIE 45,791 37,972 7,819
< 960
Al 44,831
307 212+0| 45,791 37,972 7,819
= 960
Al 44,831
10 AL SXNAIEEE2EH EX 45,791 37,972 7,819
OM2INIANE 2SN 4,800
< 960
Al 3,840
OM2HAUDAIE 2L X2 (XA 40,991
e 2 28 X &4 12,248,102 10,472,757 1,775,345
= 5,034,472
J| 448,518
< 4,137,368




2N
X ZH -
L= B

el

NEE
6 2 2 =X
A

Hd=X MblA 2

=}

Xl

[l

i Ol

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,627,744
H&=2X MblA Z3st 148,678 132,271 16,407
J| 58,036
< 32,612
Al 58,030
ZE0Y Sus 8,212 6,712 1,500
201 ¢er24| 4,000 2,500 1,500
01 At 22l 4,000 2,500 1,500
O4Ui =80y, 82488l B 4,000
202 04l 4,212 4,212 0
01 = LH o4 1l 4,212 4,212 0
O4d=i 2= 4,212
HEZE012R It XA 4,800 4,500 300
301 et a3z 4,800 4,500 300
01 AR 2Z A5 3 4,800 4,500 300
OZE0l2X HE |2
30,000 = 160Y = 13 4,800
RESHE 25 720 720 0
301 et A= 720 720 0
01 MEIBEE 2053 720 720 0
ORRESHYE =3 720
o g Al 7,000& * 10¥ « 6 420
oIl =l 30,000& = 10H 300
IIEERNMEAL 2EXR 114,191 82,908 31,283
J| 57,096
< 28,547
Al 28,548
307 21201 A 114,191 82,908 31,283
J| 57,096
< 28,547
Al 28,548
10 ALSISXAIEEER2IHEX 114,191 82,908 31,283
O =Egadgas 29 NA(1HA) 114,191
J| 57,096
= 28,547
Al 28,548
IFEEZEHLUES SAA Ex=0=E 480 480 0
J| 240
< 120
Al 120
307 glz2tol & 480 480 0
J| 240
S 120




AN ALEI =X

M 08 U 28 =X =X
o2l =X MBlA 235 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 120
11 AISI S XA E = 480 480 0
O =EALd s SAX XA (1HA) 480
J| 240
< 120
Al 120
NI =X U2 MERsKE 6,375 19,440 A 13,065
< 1,275
Al 5,100
201 et 6,375 19,440 A 13,065
= 1,275
Al 5,100
01 At 2teltl 6,375 19,440 A 13,065
OW4II=Zx, (U283 g8 6,375
< 1,275
Al 5,100
HE=SE Okt 2=zdl K& 1,000 1,000 0
| 700
< 90
Al 210
307 gl2tol & 1,000 1,000 0
| 700
< 90
Al 210
11 AISI S RAEE = 1,000 1,000 0
OJ&8 = TOloh A o 24| 1,000
| 700
< 90
Al 210
HERHAASTANLE2E XA 12,900 0 12,900
< 2,580
Al 10,320
307 21201 A 12,900 0 12,900
< 2,580
Al 10,320
10 ALSISXAIEEE2GHEX 12,900 0 12,900
OWEAASTANELE 2L 12,900
< 2,580
Al 10,320
Hdo =F3 31,446 25,686 5,760
< 4,392
Al 27,054
HEAME FHYA D X 8,526 8,526 0
301 L2 A Z 8,526 8,526 0
09 HALAHIEA S 8,526 8,526 0
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A AMIEX
B oy U B8 =21 57
Sl AYINY X2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HAESED OS¢ =Hl XA 4,800 1,050 3,750
9] 3,840
& 480
Al 480
301 LBt A= 4,800 1,050 3,750
Dl 3,840
= 480
Al 480
01 AR E & A 462 4,800 1,050 3,750
OFAESEER Olsd=d S N&E 4,800
J| 3,840
=} 480
Al 480
HAS B2QIE MBOHY X2 75,000 75,000 0
< 15,000
Al 60,000
301 et A= 75,000 75,000 0
& 15,000
Al 60,000
01 Al B & A 462 75,000 75,000 0
Osts X &yl 2,880
= 576
Al 2,304
Oottegtd = 4| 38,700
= 7,740
Al 30,960
OXEHUsAM M MeEIE 2 22,500
== 4,500
Al 18,000
Oz MW= 10,920
= 2,184
Al 8,736
SHERIIE W= A 2,200 2,274 NT4
& 1,100
Al 1,100
301 et A= 2,200 2,274 NT4
& 1,100
Al 1,100
01 Al E & A 462 2,200 2,274 NT4
OstE2I=X1H wEed N (g2 ,2s832) 2,200
o 1,100
Al 1,100
OOIEE AHIA X8 477,315 162, 133 315, 182
= 334,122
= 28,638
Al 114,555
307 QI2t0| ™ 477,315 162,133 315,182




A3l = X2t
e & B8 =X &
2201 X (chel & 9l)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 334,122
< 28,638
Al 114,555
11 AISI S XA E = 477,315 162,133 315,182
OotolE=s AMblA K& 477,315
= 334,122
< 28,638
Al 114,555
Ct2sots S3AY 143,048 107,455 35,593
| 96,428
= 7,995
Al 38,625
307 21201 A 143,048 107,455 35,593
| 96,428
< 7,995
Al 38,625
11 AMSSIAIEE XS 143,048 107,455 35,593
Ooldgs & JHME s $2UEAHHA X
2 48,976
J| 34,283
< 2,939
Al 11,754
OZE0I2X SHANMHA XA 26,760
| 18,732
< 1,606
Al 6,422
OU=aINEXE HdgY X 30,650
J| 21,455
< 1,839
Al 7,356
Ogzadus 249 22,163
| 15,514
Al 6,649
ool Js83d =4 14,499
J| 6,444
= 1,611
Al 6,444
AL EUISIIENJAEEH 293 147,500 137,830 9,670
| 73,750
< 14,750
Al 59,000
307 21201 A 147,500 137,830 9,670
| 73,750
< 14,750
Al 59,000
10 ALSISXAIEEER2IHEX 147,500 137,830 9,670
OALINFUSSHINENEME S S XA (1HL) 147,500
| 73,750
< 14,750




At = X ot
Hd & 25 =X
2201 X 9 )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 59,000
Ct2st s X & & 680 680 0
201 €2l 680 680 0
01 At 22/l 680 680 0
OfIa=¢ 70,0003 * 49¥ « 23] 560
O+ M= 60,000& = 23l 120
Ct230tE &AL X 7,060 9,000 21,940
< 600
Al 6,460
307 21201 A 7,060 9,000 A 1,940
< 600
Al 6,460
11 At =S XI At 7,060 9,000 A 1,940
Ot st 3,160
OAIAH 2l 3,000
< 600
Al 2,400
OAlAH 22l 900
ChE2tE I FHEA 18,020 8,400 9,620
< 3,604
Al 14,416
307 gl2tol & 18,020 8,400 9,620
< 3,604
Al 14,416
11 A2l = XA 18,020 8,400 9,620
OUZsI=EH Het A 18,020
< 3,604
Al 14,416
ALINEUEANSANIFEAHSE (=) 5,000 0 5,000
< 1,500
Al 3,500
307 glz2tol & 5,000 0 5,000
< 1,500
Al 3,500
10 ALl S XAIEEE 2 [2X 5,000 0 5,000
OAdHItdL23) FHEH2S 5,000
< 1,500
Al 3,500
B MHA 235 10,759,975 9,593,478 1,166,497
= 4,673,350
< 3,991,539
Al 2,095,086
ALEEZHAA 1,260 1,260 0
201 Let2dE] 1,260 1,260 0




SN ALSI S X
B oy U B8 =21 57
el B AMHA 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 1,260 1,260 0
OXNLESHMARS HAE
70,000 * 99 = 23| 1,260
S8 ESWUA SHME 500 500 0
201 ¢er24| 500 500 0
01 At 22/l 500 500 0
OBSWAISH HEAA BHEE
100,000& = 5% = 12l 500
ESANESML DX 22,250 22,250 0
201 Let24d] 750 750 0
01 At 22l 750 750 0
OBSANEESAR A3 2A=E
250,000& = 3H 750
301 et a3z 21,500 21,500 0
09 AL HIZ &S 21,500 21,500 0
OESAESMIT Ex1S 4,000
OBSANEEAX A3 &4 15,000
OZ30e0ld stotStHal AL &4 2,500
ESMHA & =4 4,536 4,536 0
202 04l 4,536 4,536 0
01 = LH 4 Hi 4,536 4,536 0
OgR0tES 22 =&
81,0008 = 2 » 2& » 8% 2,592
Ooots=X g2 =&
81,000& = 2 * 2& » 62 1,944
ESANE HASS0ts X& 86,413 78,834 7,579
= 25,033
Al 61,380
307 21201 A 86,413 78,834 7,579
< 25,033
Al 61,380
11T ARSI SXAIEE =X 86,413 78,834 7,579
OMASE0E HEOE gstEHI=E XA 8,910
< 1,782
Al 7,128
OMASE B85 BE2REZ S N 77,503
= 23,251
Al 54,252
ERANE 29+F &4 & 42,500 37,200 5,300
< 8,500
Al 34,000
307 21201 A 42,500 37,200 5,300
< 8,500




AN ALEI =X
g 0d ¥ 25 =X 58
A2

©el: ESAMHA 25 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 34,000
10 ALSISXAIEEE 22X 42,500 37,200 5,300
Ooglold detedl XI& 12,000
< 2,400
Al 9,600
OF2XNA HEold wWMHw2Hl X2 16,100
< 3,220
Al 12,880
OZS3EUHE0I& HAR e12dd X 14,400
< 2,880
Al 11,520
ESANE SAXN H2ME XA 203,235 201,755 1,480
= 28,047
Al 175,188
307 21201 A 203,235 201,755 1,480
< 28,047
Al 175,188
10 ALSISXAIEEER2IHEX 203,235 201,755 1,480
OS2t el 0l EsuA MM 54,000
< 10,800
Al 43,200
ONeold EsnAA HE L (247Y) 48,400
< 9,680
Al 38,720
OO old CHAM WAL erAddl XI& 4,355
< 871
Al 3,484
Ogoter BEFWA SE€+Y 33,480
< 6,696
Al 26,784
OS2t JHEEI0IE FHAR 21Hdl X3 39,000
ONEold EgnA 25+ & 24,000
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